Rhombi

A rhombus is a parallelograql that has 2 congruent
consecutive sides and ] sides; the angles of a
rhombus do NOT all have to be congruent or right angles.

W ed i Theorems About the Rhombus

Postulates &

Theorems

> All sides of a rhombus are congruent,

» The diagonals of a rhombus are
perpendicular to each other.

The diagonals of a rhombus bisect its angles.

If a quadrilateral is equilateral, then it is
rhombus.

> If the diagonals of a parallelogram are
perpendicular to each other, the
parallelogram is a rhombus.

llustrate the theorems about the rhombus in the figure below.

Recall that the rhombus method was used for
the construction of parallel lines. Since the
opposite sides of a rhombus are parallel, the
construction of a rnombus creates the desired
parallel lines.




Let’'s Practice!

1.

A diagonal of a rhombus that is on the coordinate plane
can be modeled by the equation 6x +y = 13. What is the
slope of the other diagonale

= =6x +\3 m: =6
] i
other dlagordd (M) ¢
In rhombus HIJK, mzH is 120°. Does the diagonal HJ divide

the rhombus into two equilateral triangles? Justify your
answer,

Lx
The size of the ocufé' angle of a rhombus is half the size of
its obtude angle. The side length of the rhombus is equal to
20 feet. Find the lengths of the diagonals of the rhombus.

2.0
yLx = 190
X p 8




Try It!

4., Complete the following proof.

. . p_Ix-L
Given: ABCD is a paradllelogram
with AB = 4x + 3, g
DC = 7x — 6, and AD = 5x. X
Prove: ABCD is a rhombus.
A Yyl N

We are given that ABCD is a parallelogram with AB = 4x + 3,
DC =7x —6 and AD = 5x. Becouse the _Qﬂgos ke sides of
a parallelogram are ‘°"“jﬂ“e" 7x — 6 =4x + 3.

Usmg E?e Addition Property of Equality, we can conclude that
3IX ¢ . Further, the Multiplication Property of Equality tells
us that x = 3.

s -{ = ‘:‘S

By substitution, 5(3)-'9} 23 é l;; H(3)x3 and
BC = 15 since ﬁgfm«-"e sides of a parallelogram are
can5m¢

Therefore, ABCD is a rnombus, since all sides of the
parallelogram are congruent.



5. Complete following proof.

Given: ABCD is a rhombus. \
Prove: AC bisects 2DCB
of the rhrombus.
A B
Statements Reasons
1. ABCD is a rhombus. 1. Given
2, 5@; 1 Ac 2. Diagonals of a rhombus are
perpendicular
3. ne NEB = me REC 3. Definition of perpendicular
e mLCcEDZme PDER =g’ lines
4. .DEC = 4BEC 4. AN r.ghY orslés e Corgevmct.
5.DE = BE 5. 0-‘a5a~¢.l( ar o r;a(a"t-\aj“‘*
i, A b.‘gga{' eocl otter.
6. Ec = EC 6. Reflexive Property
7. ADEC = ABEC 7. SRS
8. LECDZ t€ch 8. CPCTC
9. Definition of an angle

9. AC bisects 2DCB of the
rhombus.

bisector



BEAT THE TEST!

1. Complete the two-column proof below.

A

vy

Given: Parallelogram ABCD
£CBD = £ABD,2BDC = £BDA.

Prove: ABCD is a rhombus.

D H C
Statements Reasons

1. ABCD is a parallelogram. 1. Given

2. £.CBD = +ABD, «BDC = «BDA | 2. Given

3.BD =BD 3. Reflexive Property

4. ADBA = ADBC 4. ASA congruence theorem
5.CD = AD 5. CPCTC

é. AB = BC 6. CPCTC

7.CD = AB, AD = BC 7. Opposite sides of a

parallelogram are =

—

8. AB €8 2 co PR |s. Tecochye Vra‘pe(tj

<

9. ABCD is a rhrombus. 9. If a quadrilateral is
equilateral, thenitis a
rhombus.




2.

The perimeter of a rhombus is 120 feet and one of its
diagonals has a length of 40 feet. Find the area of the
rhombus.

120 'y

30 70
The area is a4 13 square feet.
k.
A ,LJ o’ Z°l" Xz 30"

,L (qo)(zv@-wwfs 4D+ 5 9
A- o=

Consider the following statement.
All squares are rhombi.

Is the converse of the above statement also true? Justify
your answer.

Comerse - A” (l\or-lv: Cre (1w>’6(

Foke beapwse rhonki &

not  hove }‘o ‘Mvt °°’D‘“" "

Yo



Kites

A kite is a quadrilateral that has two pairs of CoY\SCCUJ"Ve
congruent sides, but the opposite sides are not congruent.

TAKE NOTE!

Postulates &
Theorems

Theorems About Kites

If a quadrilateral is a kite:

Its diagonals are perpendicular.
It has one pair of congruent opposite angles.

One of its diagonals forms two isosceles triangles,
and the other forms two congruent triangles.

It has one diagonal that bisects a pair of
opposite angles.

It has one diagonal that bisects the other
diagonal.

If one of the diagonals of a quadrilateral is the
perpendicular bisector of the other, the
quadrilateral is a kite.

lllustrate the theorems about kites in the figure below.

) I (




Let's Practice!

1. Consider kite WXYZ___beIow.

——

a. Determine the lengths of each side of kite WXYZ.

AV 17 0% J°
1
UM+ MM ¢ 14\{4_: qe_?: J gyY- (6¢34
NI G (s
¢? l'l\ﬁ- tl g LI\FH

b. Which diagonal bisects a pair of opposite angles?

———

WY



2. Complete the following proof,

Given: ABCD is a kite.
Prove: ABCM = ADCM.

Statements

Reasons

1. ABCD is a kite.

2. 4BMC,2BMA, «DMA and
£DMC are right angles

3. meBMC = m£ZBMA =
msDMA = ms2DMC = 90°

4. .BMC % LBMAZ oM

ZipMe
5.CM =CM

6.(_3-_/‘;\‘;\;

7. ABCM = ADCM

1. Given

2. Diagonals of a kite are
perpendicular

3. DekbinFon of a f-\j‘\'}

o lC.
4. Right angles are congruent

5. Reflexive Property

6. One diagonal bisects the
other



Try It
3. Complete the following proof.

Given: ABCD is a kite.
Prove: AC bisects 2BCD.

We are given that ABCD is a kite. Using the propettigs of a kite,
we can say that 4C is a diagonal of the kite, A% < Ao
and DC = BC.

The statement AC = AC is frue, because of the Reflexive
Property, and using st , we know that AABC = AADC.

The statement 2ABC = 2ADC is true because of C PC«TC :
Therefore, AC biseets <2 RC D by the definition of
angle bisector.




4. Consider kite WXYZ. If meWZT = 55° and mzZWXY = 30°,
find mzZWX.

5. Consider kite HIJK. If HK = 8 and HP =5, find KP.




I

BEAT THE TEST!

Complete the two-column proof below.

Given:

ABCD is a quadrilateral.

AC is the perpendicular bisector of BD.

Prove: ABCD is a kite.

Statements

Reasons

W N o O

. ABCD is a quadrilateral. AC is the

perpendicular bisector of BD.

.DE = EB

. meDEA = m«BEA = m«CED =
m«CEB = 90°

.2.DEA = +BEA = +CED = +«CEB

.AEEAE;C}'ECE

~
.aDEAZ AQEA} pDEC<
.AB = AD, DC = BC

.ABCD is a kite.

4

1. Given
2. Delinkun of L bledlor

3. Perpendicular lines
form right angles

4. All right angles are
congruent

. Reflexive Property
6. SAS

, cpete

8. Definition of a kite



2. Consider kite WXYZ.

w

3-4-¢

Z

T

C

12t 4o =d”

13
‘;\
¢-1n-\3 >
2-24-18 \/
Y

o X ¥
MY+ 1600 = d
|'7~H-'d"

|’]'-\'-|=|6u\t)°| L'm—q e

If WT = 12 yards, TZ = 5 yards, and TX = 40 yards, the

perimeter of WXYZ is

l 6‘1@1 yards.

Pz 3+ 131 V05 + Vi



Section 10 - Topic 3
Trapezoids

Consider the following trapezoid.

D \ C

Ld

w

A B

> A trapezoid is a quadrilateral with exactly one pair of

pppos 45 sides that are
lf)ﬁa:‘m //f’ /
»  The parallel sides are called the Z’JKW’/( of

the trapezoid.

» The __jon-par fle! sides are called legs.

» A trapezoid has two Sets of base angles.

» Atrapezoid is isosceles if it has one pair of non-
consecutive sides congruent, both pair of
base angles congruent, and opposite angles

upp lementory




el Theorems About Trapezoids

Postulates &

Theorems

> If a quadrilateral is an isosceles trapezoid, each
pair of base angles is congruent.

» A trapezoid is isosceles if and only if its diagonals
are congruent.

Let’s Practice!

1. Consider isosceles tfrapezoids ABCD and PQRS below.

D > : C S » R
90" 7

60° /0"
A ' B P

Find x, m«DCB, and PR.



2. Consider the figure below.
H > T

>

M A
Given: MATH is an isosceles trapezoid with bases MA and
TH.
Prove: PH = PT.

Statements Reasons

1. MATH is an isosceles tfrapezoid | 1. Given
with bases MA and HT.

2. My = AT 2. Legs are congruent in
isosceles trapezoid.

3. £zMHT = £ATH 3. 4ns¢ c%n?/(‘S' e C%%wufﬂ%,
4. Fﬁ’ = }:ﬁj 4. Reflexive Property
5. ATHM = AHTA 5. SFS
6. £ WMT Z £ ThHYU 6. CPCTC
7. .HPM = /TPA 7. ok Aaglis Therea
8. Ayup & ATAP 8. AAS

9

9.PH = PT .CPcTC



Try it!

3. Consider the figure below.

K

/
E\

Given: LIKE is a quadrilateral with LI || EK and LE = IK.
Prove: £ELI = «KIL.

Write a paragraph proof.
LTKE 5 a quadileteet it TTI ke and LE = LK.
LTkE s an sosels dpezoid by Ma/m/ 5o LELLECkTL

10’5““43‘ «Mu bast @nﬁ(ﬂ' OZ G rfosézé_! f/wvazw{(ﬂ Ane &ij,wf,



4. Consider isosceles trapezoids TRAP and FRED below.

P 3 A D > E
L %
(\@ x
/ 2
2
m +1)° _ (2m + 33 ~ (
T 7 i P

R
Find m, n, 2PTR, 2PAR, and FD.

(45

bn

R

Y +|L = ;;/m +33 U+l = 3Im +2>
% (Y41 = ) +33= (5

Im =323 w
2 . 260 - (S-S5 =330
‘m:}Q .
(Z. PTR\ = q(lfo\ '\L‘@ ) “PRE :%9- - 115°
G- Fn = 5’*[“
B g/““ﬂ =P —In F’B:L{X"’}Kl
- yy-2(5)
_ --Y40
‘:—iﬁ —y = U P g

| f’i—[; = 13



BEAT THE TEST!

1. Complete the following proof.

Given: MATH is an isosceles

trapezoid.
Prove: 4ZMHA = £ATM

M A

Complete the paragraph proof using the bank of terms

below.

Is is given that MATH is an isosceles trapezoid. We can prove

that MH = AT

. Then,

DC@m#\JH ofﬁ /so.wé’; WIYa/Donx”J

MA = MA by the

. We can state

Dot sve /'D,qne/é

that AH = MT by the use of

7745/'[)( zod [\Mj &chvﬂ 5 ﬂe‘en&:{
Now, we have friangles AHMA = ATAM by

=

Finally, using

CPC T

we Ccan

prove that ZMHA = £ATM.

 ReflexiveProperty

Midsegment Theorem for
Trapezoids

Trapezoid Base Angles
Theorem

inition of Isosceles
Trapezoi

ASA

[ — N —

Trapezoid Diagonats Thearem

Transitive Property

Alternate Interior Angles

- CREC




Section 10 - Topic 4
Midsegments of Trapezoids

Consider the mid-segment of a trapezoid and its
characteristics.

» The midsegment of a trapezoid is the segment that
connects the two midpoints of the opposite sides.

» A median of a trapezoid is another term for the
midsegment.

el Midsegment Theorem for Trapezoids

Postulates &

Theorems

The midsegment of a frapezoid is parallel to each
base and its length is one half the sum of the
lengths of the bases.

llustrate the theorems and characteristics of the mid-segment
of a trapezoid in the figure below.

by

/ %J ( 131 4")9) \

by

Yy



Let’s Practice!

1. ZACH is an isosceles trapezoid with midsegment MN.

VARERN
/ A

Z 26 A

Determine the length of MN.
o = L (26+6) = 5(39) =16

2. MICE is an isosceles trapezoid with midsegment PQ.

E C

/ (4x + 4) yd. \
y(@)+y = 12
/P (4x + 6) yd. Q\
ylp)+e = 1Y

M (6x + 4) yd. I
G+ =16

Determine the lengths of M1, PQ, and EC.
Yy +o = 5 (U kY +e+y) = '5(’0“"5’) = ot




Try It!

3. Complete the following
proof.

Given: CAVE is

quadrilateral. ACOE = AAOV,
ACAO~AEOV, AT = BE where T is the midpoint of 4V.

Prove: CAVE is an isosceles trapezoid with midsegment

BT.
Statements

Reasons

1. CAVE is a quadrilateral. ACOE =
AAOV, ACAO~AEOV, AT = BE
where T is the midpoint of AV.

2.CE = AV

3.CBHBE =cg ; ATHTV- AV
4.CB+ BE=AT+TV
5.CB+ BE=BE+TV

6. CB=TV

7.CB=TV

8. B is the midpoint of CE

9. BE=CB=AT =TV
10. L ¢cfE = ¢taczV/
11.CA || EV

12. CAVE is an isosceles trapezoid
with midsegment BT.

1

2
3
4

5
6
7
8
9

. Given

cpcTC

. Segment Addition Postulate
s

. ﬁwls /"Aﬂ(m

. Subtraction Property of Equality
. Definition of Congruence

. Definition of Midpoint

. Substitution

10. ACAO~AEOV

1

1. &—ﬂw/j( o"*! /4 / ‘f%w[( szw}vfg"j&) ﬂ%m‘

12. Definition of Isosceles Trapezoid

and Midsegment



4. CART is an isosceles trapezoid with midsegment MD.

T R

/ (6x — 6) ft. \
M D
/ (7x — 4) ft. \

38 ft. A

C

Determine the length of TR and MD.

Ix-4 = 56+ TB L0

K- = 5 (bx+33)  TR=G(SD-0

w-y = 2R L= %
_gedq T3 v M
i-;-(— '—%") s = P
X =9 i = 7S) X
g = 254
24




BEAT THE TEST!

Julia is designing a popcorn box. She wants the end of
the box to be a trapezoid with the dimensions shown. If
she wants to cut the box through the middle to make the
pox smaller for her little sister, about how wide would the
top base of the smaller box be?

A 7
15. 924+ 22
Pop
Ry N [EOs2447.409) ., ~

.................... .H...cov..... Srinasensssnas

IL.4% | centimeters.




Section 10 - Topic 5

Quadrilaterals in Coordinate Geometry - Part 1

Let’s discuss writing proofs using Coordinate Geometry.

>

Coordinate geome‘rry involves placing geometric
figuresin a __ Coor dinnle ,olame

Coordinate geometry proofs use several kinds of
formulas.

Distance Formula | Slope Formula Midpoint Formula

dsz M:'}‘a:}_‘" MX# (})3

o-X,

When developing a coordinate geometry proof, we should
complete the following steps:

>

Draw and label the graph (or identify a graph in a
plane).

Decide which formula(s) are needed to prove the
type of quadrilateral.

Develop a two-column, paragraph, or flow map
proof. |




Let’s Practice!

1.

Consider the information and figure below.

y
. oAl N
Given: . ‘ . //19! - 3
PINE is a quadrilateral with AP 4 m> g
vertices at P(-5, 2),1(4,9), A - 3
N(3,10), and E(—6, 3). vy Al = q
0D
ﬂ-g-ﬁ-A-?on')Aﬁnﬁx
Prove: 2 PE\« -~
PINE is a parallelogram. - HL
_6 -
% ‘
Loy

Write a paragraph proof based on the above information
and diagram.

G;W,. Hat PINE isa qy%-é-f%( ik vefes at
P (5,3, T4 ,p(30)  add E(0,3) , He
dopes of opposi - sTs £ ad PT must be
ond M slops of opfvs"l‘ 5'1“’ PE o NI must-alo
be e»;u«/- ’ﬂ*tslopcs of EW oud PL ae ;ﬂ,
bottn . Tle slogs of PE ad PI pe -1 b bty ,
OWos:-"t sily o PINE ore fmlé/ . Using fnﬂf"“
st pm.ﬂe(ojrm; ) we Can cohuds Hnt PINE
s a Pa/a.llcl(j/m.




2. Consider the information and figure below.

Given: J(2,2),U(0,10),M(8,8), P(10, 0).
Prove: JUMP is a rhombus

" (T red
b = o
i R L b
My, = I T A 1T
N ;
M 3 | i e A R T
0| 13 [ h .
=10.=8. =6| -4 -'izn 21 #YRK 8 1-‘? - gm
-4
-6
-8
-10¥

Write a paragraph proof.

. U ol | U125
uml's.ﬂ.“&) JuE um EML EPI l’j arfo

ot Congrueng m and Up ant /lym/; o/ JU:‘}/’ .

N slope o Ti () is Ha appusik reepret

fuo clpe of UP (0. Tlantoe m | uf.

Desibus ) j"lrf is slu/‘/cx fam  UP . ﬂ"‘/ JamP

is a rhowbus bjﬂ“‘kw




3. Consider the quadrilateral JUMP from the previous
exercise. The midpoint of JU is (1,6), called W. The
midpoint of UM is (4,9), called A. The midpoint of MP is
(9,4), called L. The midpoint of PJ is (6,1), called K.

Use the information above to prove that the line segments
joining the midpoints of the consecutive sides of a
rhombus form a rectangle. Complete the following

two-column proof.

Statements

Reasons

1. JUMP is a rhombus where
the midpoint of JU is (1, 6),the
midpoint of UM is (4,9), the
midpoint of MP is (9,4), and
the midpoint of PJ is (6, 1).

2. op Il Lk
AL 1l kw
3. WAL AL
BLL Lk
L &w
o L WA
AL 2 kw

5. Witk «Qms 3 recfm,k .

1. Given

2. Slope Formula, because
opposite sides of a
rectangle are parallel

3. Perpendicular lines have
slopes that are opposite
reciprocals.

4. Distance Formula,
because opposite sides
of arectangle are
congruent

5. Definition of rectangle




Try I

4. Graph COLD and complete the following paragraph

proof.
y
Given: COLD is a ":
quadrilateral with vertices PR N f)
6 -O12”N >
at €(1,1),0(2,5), L(5,7), and A
D(7,5). 20
. . -t 0 x
Prove: COLD is a trapezoid, =10=8-6/-4 e 2 246810
but is NOT an isosceles .
trapezoid. _:
-8
-10Y

Given that COLD is a quadrilateral with vertices at
C(l,l';, 0(2,5), L(5,7), and D(7,5), the slope of OL is

ﬁ!__ and the slope of CD is k] , SO
oLV CD because their slopes are equal. However,

the slopes of CO and LD are not &4 , SO

these lines are not parallel. Therefore, COLD is a trapezoid
by definition.

COis m’ units long and LD is a3 units
long, by the distance formula. Since, _ €O FLD  and
CO¥F LD | trapezoid COLD is not isosceles. Their

kﬁ‘ are not congruent—




Section 10 - Topic 6
Quadrilaterals in Coordinate Geometry - Part 2

Let’s Practice!

1.

Consider quadrilateral JKLM with the following
coordinates: J(1,-2),K(-1,—-4), L(-3,-2),M(-1,10). What
kind of quadrilateral is JKLM?2 Remember to justify your
answer! _

— —L =0 e
Vg =826 St T TO G L
iz gy =8 =96 Shee ke - .
m:W = g V33 Jklhis & kife L 3 pais

+
A _ of cousegutve Sides CogmMs
Which of the following conclusions cannot ‘always be r.

drawn using coordinate geometry?

@ Two sides are congruent. v/ )

A segment bisects another segment. -~

® Two angles are congruent. x

© A quadrilateral is a trapezoid with a midsegment. «~

Quinn graphs parallelogram GRIT with the coordinates
G(10,8), R(10,20),1(18,20), T(18,8).

The diagonals meet at point ('q) H\

b3, . [lét0 Yo
[Mu/{)om{' P.T -( ) P >

2

= (l‘(, I‘{) |
hl(”)&h“’ é_i' = (B_;_Q ,g-_l—f?_>

= (4, 1) o~




Try It

4. Quadrilateral ABCD has the following coordinates:

A(0,0),B(0,3),€(5,5),D(5,2). What kind of quadrilateral is
ABCD< Prove your answer.

z s ; e sales

A= o =3 Sl‘,‘um z s ,um&w IONQ; S !

= :\{;q Sl‘?" .2 e Covgimin
BC = V44 o 2 o pll.
Co=ia =3 Shope ¢ =23 - vadihed | . |

DI'("W:'[}‘ & - ABCD i
Sloge pp = % | o povellelosrya,

5. Quadrilateral GRIT has coordinates G (10, 8), R(10, 20),
1(18,20), and T(18, 8).

Part A: Circle the correct answer that completes the
statement below.

GRIT is l rhombus | isosceles trapezoid.

Part B: Which of the following statements is enough to
justify your answer?

@ GRIT has four right angles and two pairs of congruent
sides.”

@ GRIT has opposite angles that are congruent but not

ngles

;®\ GRIT has diagonals that intersect OM.

GRIT has one pair of parallel opposite sides and one
pair of non-parallel but congruent sides.




BEAT THE TEST!

1. Consider quadrilateral MATH below.

y
\
L.
)
H (0,y) T (x,y)
! X
M (0,0) 4 (x,0)

We can prove that MATH is a rectangle by calculating the
length of each diagonal.

Write the algebraic expression for the length of each
diagonal. —

=

MT:m = | (x-0F+(y-0)
—

ik = (o +@-sy =VO0-07+(0-y)

ph= (orew =(evy v




2. Prove that quadrilateral LEAP with vertices L(—3,1), E(3,3),
A(5,7), and P(—1,5) is a parallelogram.

Yy
104 Slopes:
8 B é,_/'
4
7. i
-10-8 =6 —42-2! 0.2 41 6.8 10
-2 + =2_1
-4
-6
s =4:2
2
10}

Which of the following statements help to prove that LEAP
is a parallelogram? Select all that apply.

4 v v v o

IH//LE = 2v/10, EA = 25, AP = 24/10, LP = 2v/5, sOo LE = AP'énd
EA = LPYOpposite sides of a parallelogram are congruent.

O LE=FEA=AP=LP=2V10,5S0LE =FEA=AP =LP. All sides—

are congruent, depicting a-square, which is a type of
Q_C_!LQllelogmm, S

The slope of LE and AP is % The slope of EA and LP is 2.

Since LE || AP and EA || LP, opposite sides of a
parallelogram are parallel.

O Theslope of LE and AP-is ~. Since LE-{| AP, parallelograms
s o 3,
have(oke pair of parallel sides.—
O The—skme-@LLE_aad_ABJs%fwhﬂeiheslopthEA—gn@LP«is

—8. Ihese-slopes are opposite reciprocals of each-other,
o LEAP is-a-rectangte, which'is a type of parallelogram.




Section 10 - Topic 7
Constructions of Quadrilaterals

How can we construct quadrilaterals?

» Different quadrilaterals can be identified based on
the properties of __ingles , Sides
and diaﬁnuaff

If we know the properties of the quadrilateral that we want to
constfruct, then we can apply the skills we learned in previous
sections fo construct line segments, angles and triangles.

What questions should we ask ourselves before starting the
construction of a square?

» What are the properties of a square? | s
o Al sidss covgrunt” 0 fngles are T

/)4 in He (atedior,
6 9‘ /Mtf;” ;‘)‘? {)ﬂ//')gr‘& 5"0&5/}‘%%
[} d_’f&tﬁ{ﬁ»q 5 at C{kjﬂﬂf'/l‘]‘; f{’/ﬁg@é@;&/ L‘Q,M/Z,fw/ &,_.((o/{‘(/

» What basic construction skills do we need to make a
square with the correct propertiese

*’ Pﬁ/fﬂf: diwlo 113
. C,om ge’ﬁ;wn“l o f//«d&/



Let’s Practice!

1s

Construct rectangle ABCD.

Step 1.

Step 2.

Step 3.
Step 4.

Draw line segment AB, which will be the base of
the rectangle.

Construct two congruent perpendicular line
segments to AB, one passing through point A
and one passing through point B. Label the line
segments AD and BC.

Draw line segment CD parallel to 4B.

Check your work by placing the compass on
any vertex. Open the compass to the opposite
vertex. The opening of the compass must match
the measurement of the two other opposite
vertices.




2. List the steps in the construction of kite TABY shown
below.

1, bf.fwu §(6m¢44 A'—_B—
2. CM«JJ % FWFFMJ'\(,%(U l)t;{o O/ uﬂ Tg-
3.Cendt TV and TH

4, t‘Jw‘{'( (il WQmSL M{ wth BA sl Ef—



Try It!
3. Construct tfrapezoid TRAP.

Step 1. Draw line segment TR.

Step 2. Construct a segment from point T using any
angle. Name the segment PT.

Step 3. Construct a line parallel to TR and passing
through P. Label the line segment PA.

Step 4. Draw line segment RA.

4. Abby is constructing the rhombus below. What would be
the next step in her construction?

D
mlisot AB Lo mes whiese o
Pu‘(’ f)o'mf' 4 ﬂm(i D ;



BEAT THE TEST!

1. Consider the quadrilateral “Yunder construction” below.

D

A B
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Part A: Which statement represents the next logical step
to complete the construction.

@ The next step is drawing a line from B to D.
This will complete the construction.

The next step is to swing the compass around
and mark off the same length as AB on the
opposite angle of A.

© The next step is to draw a line parallel to AB
passing through D.

@ The next step is to draw a line through the
intersection under B that connects it with B.



Part B: Use the table to categorize which of the
following quadrilaterals can be the outcome of
the construction described above. Write each of
the answer choices below in the appropriate
column of the following table.

» Concave quadrilateral
> Kite
> Isosceles Trapezoid
» Parallelogram
» Rectangle
» Rhombus
» Square
» Trapezoid
Can be the outcome Cannot be the outcome
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